II LESSON 7.1 J
Name

Make Bar and Double-Bar Graphs

Vocabulary

Complete the sentence.

1. A is used to compare similar
kinds of data.

Cost of Bulbs (per package of 25)

Type of Bulb Kevin’s Flowers Hillside Nursery
Daffodil $18.00 $14.00
Tulip $10.00 $12.00
Hyacinth $21.00 $12.00
Crocus $5.00 $7.00

2. Make a double-bar
graph to compare
the cost of bulbs at
Kevin's Flowers and
at Hillside Nursery.
Use the data from
the table above. Choose
an appropriate scale. Include
a title, labels, a scale, and a
key for both stores.

Mixed Review

3. Which is greater, 420,391 or
402,9317

4. Round 225,770 to the nearest
thousand.

6. What is the sum of 259,739 and
927,4927

5. Estimate. 893,232 + 281,932
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II LESSON 7.1 j
Name

Make Bar and Double-Bar Graphs

Vocabulary

Complete the sentence.

1. A __double-bar graph
kinds of data.

is used to compare similar

Cost of Bulbs (per package of 25)

Type of Bulb Kevin’s Flowers Hillside Nursery
Daffodil $18.00 $14.00
Tulip $10.00 $12.00
Hyacinth $21.00 $12.00
Crocus $5.00 $7.00

2. Make a double-bar
graph to compare
the cost of bulbs at
Kevin's Flowers and
at Hillside Nursery.
Use the data from
the table above. Choose
an appropriate scale. Include
a title, labels, a scale, and a
key for both stores.
Check students’ graphs.

Mixed Review

3. Which is greater, 420,391 or 4. Round 225,770 to the nearest

402,9317 thousand.
420,391 226,000
5. Estimate. 893,232 + 281,932 6. What is the sum of 259,739 and
927,4927
Possible estimate: 1,200,000 1,187,231
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